CHANDIGARH TRANSPORT UNDERTAKING
UT CHANDIGARH
Post: Bus Driver

Question Booklet with Answer Key
(English-Hindi-Punjabi Version)
Test Held on Sunday 16.7.2023 (Evening)
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ENGLISH — HINDI VERSION

“Hit and Run motor accident” is defined under which section of Motor Vehicles Act, 19887
AR - T A T’ Y AR T ST, 1988 R e uwr B T aRefe fear wer
A) Section (1) 160  B) Section (UIRT)161(a)(b) C) Section (UWT)164 D) Section (¢RT)159

As per the second schedule of the Motor Vehicles Act, what is the amount of minimum
compensation in case of permanent disability?

A T ST WX S D SEER, g e 9 e ¥ < e o w8
A) % 25000 B) T 50000 C) 2 500000 D) % 100000
Traffic sign ‘Overtaking Prohibited’ is a :

A) Mandatory sign B) Cautionary sign ~ C) Informatory sign D) Warning sign
FraEE e an e afdla 27

A) dfard fesr B) @@ fer C) Toa R D) e Ry

What does the Flashing Red Light at a traffic intersection indicate?
A) You must come to a complete stop at a flashing red light. Move through the intersection only
when it is safe

B) You should drive with caution when approaching and moving through the intersection

C) You should come to a complete stop & proceed only if Traffic Personnel on duty indicates

D) You should accelerate and quickly cross the intersection

A DR W T o el 6 @ SR gahd el 3

A) 1T Y TR T TR R U0 WS T W AR | 9N S 99 9 W IR 6 o
T8 Whea =

B) ¥ 39 Wk & fehe TR B 3 W UK w1 B, T 9 H aEunt ¥ T IeEn gk

C) o =t Fege o W WY it 3M Paw I @ TGN RY W S TEAE R
Fahd Rl B

D) 39 &l Aot | TR Wedl HET TR T A1 AR

What do the Yellow Lines painted on the edge of the road (along the kerb) signify?

A) Do not stop or park your vehicle on this road

B) Overtaking Prohibited on this road

C) Lane Changing Prohibited on this road

D) These are “Edge Lines’ indicating the limits of road upto which the driver can safely venture

aeF & e (R 2 oo 2wy aw) ¥e & 1 Sl o T i 2

A WF WAGE IR 78 18 v =

B)3¥ ¥eF W W T an P afify 2

C) 39 U5 W oF T Sgol afoid &

D) ¥ e ot el & S W o sl ) U & St aw e WRen ¥ W) e aen @

The holder of a learner’s licence may drive while receiving instructions of gaining experience in

driving provided: '

A) He is accompanied by instructor holding an effective driving licence to drive the vehicle who

is in a position to control/stop the vehicle

B) The vehicle shows the prescribed ‘L Plates’ to front and rear

C) Both option (A) & (B)

D) (B) in all cases both (A) and (B) for four wheelers only

frerdt vt @ uRe, SEREN X e T w9 Rerw o e W Fen wwar & e

A)SE & I TR TR S T du ade une e 8 o T @ Fale s s e 9
fufa & 2

B)WE & it gk 92 du L= e A

C) FF (A) 3k (B)

D) & Bl ¥ (B) dR Faw dnfza mia @ fg (A) sk (B)
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2.

10.

11.

12

Section 39 of Motor Vehicle Act is related to :-
A) Insurance of vehicle B) Fitness of vehicle C) Registration of vehicle D) Permit of vehicle

e T U = arr 39 BFw @ 9slhe 2

A)WE B R B)WS A gee (WEAw) €)W A Hordw D) s = ufie
Under what condition a vehicle can be “Towed”

A) Vehicle parked under restricted zone B) Vehicle standing in no parking area
C) Vehicle parked in a way to cause inconvenience to road users D) All of the above
fora Rufa ¥ wd = Somr W e 2

A)aftefer &= ¥ ot & WS B) ufvafee & ¥ @St wd

C) 38 e ¥ T W FA [ J WgH & T4 FH awell AR B D) 3w &+t

What does the YELLOW BOX MARKING at the Road Intersection indicate to the approaching
driver of the motor vehicle?

A) The driver must approach the intersection with caution and should GIVE WAY to traffic on
the right

B) The driver should bring the vehicle to a complete halt at the STOP LINE and proceed only
when it is safe to do so

C) The driver must not stop even briefly within the marked area and should cross it only if there is
clear space available ahead of Yellow Box
D) The driver must not overtake any vehicle within the area marked as the Yellow Box

AR T A N @ AeE @ T www @ AR W New somn win e @A) gad wa
A)=eeR AR S TE AN §Y GEUE @ IR aeEE @ R @ e woe @
B)qeh T&1 R S 0 WS fee I TR SRk S w wor Wity I dar we gt &
C) wr= v & ¥ <o Y T A8 iRy SR 39 W B ST TRy At e v

R @el SRS Sqee B
D) Witk = Gt 999 9t Wk Y 8 ¥ 6 R ¥ s 98 Freseen wifte

“Safe Speed” for driving depends upon:

A) the traffic and weather conditions B) pick up of the vehicle

C) Average given by the vehicle D) None of the above

et & fog giem i e w ek w1 2

A) IEEE 3 A B W B) & & TR qEE W

C) 959 B & E " W D) Sudead ¥ § =S W 78 2

What all subjects are covered in the “Driving Preliminary Test”

A) Traffic Signs, Traffic Signals & Rules and Regulations as stated in MV Act
B) Precautions to be kept while travelling by road

C) Documents required while travel

D) All of the above

SRR % IR e’ F w-d Rug e 2

A) T e, FreEe a3k MV iftiaw ¥ aftfa faw sk Rt
B)¥s%h W Ted 99 W 9N Al aruniar

C) 9% IR O AETIE IS

D) Suderd @t

Which of the following is mounted between the engine and gear box?
A) Propeller shaft B) Differential gear C) Flat belt drive D) Clutch
SO JR R G B e w1 @ B

A) IR TR B) Wz MR C) e I S8 D) &
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13.

14.

15.

16.

1%

18.

19

Mention rule to be observed while overtaking a vehicle:

A) Get the acceptance from the front vehicle B) Overtaking from right hand direction
C) Overtaking from left hand direction D) Both (A) and (B)
WS T W e @ e ¥ W@ 9H T e s
A) TR TR ¥ Wl o B) e &1 Tl feam ¥ s fweran
C) o} 5717 It Ran & 3 Feween D) 31 (A) 3t (B)
Approaching a roundabout which vehicle has priority?
A) Vehicle approaching from the left B) Sides having major traffic flow
C) Vehicle approaching from the right D) None of the above
W & UMW Tgad o fhd W @ gve 9 W
A)TIE 3R A A Al WE B)fvm o @ st g smen B
C) = T ¥y AR W D) S ¥ 3 W o 7 3
A vehicle without registration number or displaying applied for is prosecuted under:-
A) Permit violation B) RC wviolation
C) Violation of Supreme Court guidelines D) None of the above
Yoiegd ¥ & f&e0 @ A ® Applied For (A/F) Toraemt <o e Seetae o
A)RT I B) 3R & IeetaeT
C) gim =i¢ & Rar-Fdal &1 Swm D) = ¥ &% ot =&
“2 second” Rule is used to measure:
A) a safe distance between two vehicles B) intensity of collision
C) the speed of vehicle D) time between vehicles
“2 dee @ w AR @ e e W @
A)T A & a9 U e T B) T &l
C) = &t i D)arsl & §F W 96Y
What precautions need to be taken in foggy conditions?
A) Slow down the vehicle speed and use fog lights B) Use indicators well before time

C) Prefer to drive within speed limits of 5 to 10km per hour D) All of the above

e # fohT AaanfHal & e S e @ o B

A)TS H TR T FA IR BT SE G F B) @I O hT! T TART
C) 5 ¥ 10 Kmuft =2 &t 7y @ ¥ Wt ) 9o A wots & D) Iia @<k

On a steep road not sufficiently wide to allow the vehicle to pass each other freely without danger:

A) Vehicle going downhill gives precedence to vehicle going uphill

B) Vehicle going uphill gives precedence to vehicle going downhill

C) The Vehicle travelling faster of the two shall get precedence

D) The Vehicle that is larger of the two shall get precedence

T AN HUE T WU WF W, @R D N GE WM A IR B w5 ey ox @ B

A)EHF A T E WS TS Gl WS H UET on B

B) =g &t 3R O W& W R 9l WS i 95 o B

C) 3R ¥ ¥ 3t A9 oo T W Y weA § wod

D) 31 # ¥ & T Y 95 & e

The letters & figure in the Registration Mark (Number) displayed to the front & to the rear of the

Motor car should be as follows:

A) The letters should be in English and the figures in Arabic Numerals and the height of letter and
numerals should be 2.5 inches.

B) The letters & figures may be in any of the Indian Languages in the Eighth Schedule of the
Indian Constitution and the height of letters and numerals should be 2.5 inches.

C) The letters should be in English and the figures in Arabic Numerals and the height of letter and
numerals should be 5 inches.

D) The letters & figures may be in any of the Indian Languages in the Eighth Schedule of the
Indian Constitution and the height of letters and numerals should be 5 inches

Page 4 of 28



20.

21.

22,

23,

24,

A HR & 0 JR IS vefifa Mg 7 (Far) ¥ sl R sl = FerEr B TR
A) R IS ¥ B R w I Il A B 3N R ug S 9 SR 25 TH A
B) 3R 3iT Fieh WA WU H ed et ¥ @ v e o s ¥ & sk
R TE Al A TS 2.5 79 B
C) 3R AUSH ¥ B 3N 3w RS il A, I R vd s o o9 5 T A
D) 3R 3R e AR WU 3 e sHeE F 9w A f ww ¥ & 3k sen
U9 Jepl S SAE 5 TU A
“Omnibus” means any motor vehicle constructed or adapted to carry more than persons
excluding the driver

Al 98 T Aqed © FiE o el 9 S Uik B 9Re] ¥ wael S ot wed & R
TR T

A)5 B) 6 C) 7 D) &

You wish to overtake on a dual carriageway. You see in your rear view mirror that the car behind

you has already pulled out to the right to overtake you. You should:

A) Wait for the car coming from behind to pass before you signal & pull out your car to overtake
the vehicle in front

B) Signal to car coming from behind your intention to overtake the front vehicle and pull out your
car to the right

C) Pull out your car under sharp acceleration so that you quickly overtake the front vehicle.

D) Flash your brake lights before pulling out and overtaking the front vehicle

T T AET-AN W AR Freherr =Ed & | 9 F9 fTed 9T fF ¥ e B ave 99 an
W FR H IES A A9 A I P B R o 3k = R &1 o w5 aiike

A) JT FR H I TET I e @ e wa ok o w1 mR, 99 a1 @ FR
A el W S e S

B) $FIdt 9157 ¥ IR P & o som 3 09 o1 @ oR @ 3wl W o wae 9 Ak
T FR F S TWE o SO

C) AT FR H A AN TE AT 0 GET ¥ Tl A AW e I

D) STt 967 ¥ SR e 3T T ) a3 & g6 W of 9 ¥ RN Al 3 Wl @) wh
=

The driver of a motor vehicle shall, when passing workmen engaged on road repair, drive at a
speed not exceeding

AT AEA 1 AT, G5 W FH F @ TG Bl o€ IS TG Y 1S TN A 8 TN
A) 30 km/hr B) 35 km/hr C) 20 km/hr D) 25 km/hr

Section 67 of Motor Vehicles Act, 1988 provides:

A) Possession of driving license while driving

B) Possession of Insurance certificate and PUC certificate in the vehicle

C) Revoking driving license if drunk driving is detected

D) State government’s power to control the road transport

e arEA JUFEE, 1988 & R 67 ¥ ST € T o

A) FEE TR TG JIEAT ARG A 9w

B)WE ¥ 9 9EoEE 3k PUC 99T &

C) afE IR Gk St TA T T T B W FERAT ARG Y ©E wET

D) ¥3% A & FabE o @ g osa war @ afteR

Driving by the drunken person or by a person under the influence of drugs is covered under which
Section of the Motor Vehicles Act?

IR FAT Y & I A for =i g i, Ao arw afitem @ e o & st o
A) Section (&IRT) 165 B) Section (&) 175 C) Section (9RT) 185 D) Section (aRT) 195
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23,

26.

27.

28.

29,

30.

31.

The Traffic Police uses Lux Meter to :

A) Measure the blood alcohol concentration levels of the drivers
B) Measure the light transmission of window glasses of cars

C) Record the photographic evidence of traffic violations

D) Measure the speed of Vehicle

T o qa9 Mex IR Sl o

A) T H & IAHEA & MU T TR F A ® R
B) & ol Reefral @ Ml & v e & W @ R
C) T SUEnA & WEhe T W Re v @ e

D) WS &t THER W A B B

Section 206 of the Motor Vehicle Act deals with the:

A) Power of police officer to impound document B) Power to arrest without warrant
C) Penalty for causing obstruction to free flow of traffic D) Restriction on conviction

Aex aa SRl & urr 206 B ¥ walte &
A)THRY W 6 @ o gfe Il & aER @ B)are @ wR ARER w0 9 ofter @
C) g & Faly g F A v @ s d D) Iw Rt wdw R

The vehicle in front of you indicates left you will:

A) Overtake from left B) Slow down and approach with caution
C) Overtake quickly from right D) None of the above

T H I AW N WS TS WE ARG Bl T AT

A)eE AR A 3 FHewenn B) SEEN @R 3R AUt 3 ey

C) = % & Tl A MY A A FEER D) S A A B N 2

A blind spot in an area:

A) Not reached by the head lights

B) An area under the car

C) An area unseen due to the bike rider’s helmet

D) An area not seen through the rear view and wing mirrors

8 Sy T

A) W&l T BIARE 7 UEA 9% B)&R & A™ &t WE

C) TEF Weich T FeHIC N TE ¥ TS W D) W T wed g ik wed WA ¥ s

What is the best way in the curve to avoid accident?

A) Slow down before entering into the curve zone B) Speed up the vehicle

C) Remain the vehicle at constant speed D) None of the above

T ¥ = D e A ) 7 ¥ R 9@ &

A)Ars R & ¥ T R A T e & wra By = 7 e

C) TE ) THEA IR W @ D) Suded & | =i off 7 2
When you cross the zebra crossing and cars stop for you what should you do first?

A) Run across the road B) Walk across slowly

C) Keep looking both ways D) None of the above

T AT PR FAT H IR TR B AR IR AT D PR @S B W S A w S
ey

A) STHT O S IR & B) snfeem snfEwn UR &)

C) 3 WEH e @ D) Sudaa ¥ ¥ TS o 718 @

What does the continuous white line dividing the lanes mean?

A) The driver is allowed to change lanes

B) The driver is not allowed to change lanes

C) The driver is allowed to change lanes if he/she has to take a left or right turn
D) None of the above
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32.

33,

34.

35.

36.

37.

38.

A Tl dle Rl FREX ahe wE @ @ e 2
A)TTF H AT Tea F G B B) =& &l o Seee o Sl w8
C) W S oS T 9 G § AR 6 WY T o WS oA D) Swde A s of w2

According to Motor Vehicle Act which of the following Motor vehicle is not a ‘motor car’:

A) Omnibus B) Tractor C) Truck D) Motor Cycle
AT AEA FLUFET B FER, FIFT-9 Al a8 A w48 B

A) SR s B) ¥ C) T&w D) Hite arzfee
ABS stands for (ABS =T U7 &7 =1 2)

A) Approaching Blind Spots B) Anti-lock Braking System

C) Anti Braking System D) Advanced Brake System

‘Give way’ Sign is

1) Triangular in shape i1) Coloured with red border 1i1) White background
A)Only (1) & (1)  B) Only (ii) C) Only (ii) & (1)) D) All (i), (ii) & (iii)
‘T R e R _

(i) ReRmER (1) e =R T (iii) %< ur¥g aen

INECCROE ) B)®ad (ii) C)®aw (i) R (i) D) & (), (i) 3 (iii)
Which section of the Motor Vehicle Act 1988 deals with the grant of driving licence?

AR e A 1988 o FT-F o gElin wdE A s 3 ¥ wEhm 2

A) Section (8RT) 12 B) Section (4R1) 9 C) Section (K1) 14 D) Section (UIRF) 20
In which shape Informatory signs are shown?

A) Rectangle B) Circle C) Triangle D) Square
oo Al ot e wee ¥ waian o R
A) FRTEER B)ga C) faanivr D) =

According to Motor Vehicle Act which definition of ‘Dealer’ is incorrect?
A) One who deals in the repair of motor vehicle

B) One who deals in the business of hypothecation

C) One who deals in selling of spare parts of motor vehicle

D) One who deals with leasing and hire purchase of vehicle

AT e FUFE D FER T o wi-a i a8 T8

A) S = RAeT qeT N FEH 1 HH T &

B) il =fe ARt @ 1 SRISR ST 8

C) v =afe At A & R Tl & T o1 W I 2

D) Wi a1E+ fFaar-wde @ 9k W ued & deltm 2

The Light Motor Vehicle is defined as a vehicle whose unladen weight is:

A) Not exceeding 8000 Kg. B) Not exceeding 7500 Kg.

C) Not exceeding 8500 Kg. D) None of the above

Bh Hict AEF i 0N AIET B AR W AR R St € R = et - R ® W ae
A) 8000 Kg ¥ 3t T & B) 7500 Kg & 3iftres =7 &

C) 8500 Kg ¥ siftres =1 & D) SWad ¥ ¥ s oft 78 2

Instructions for (Q.Ne. 39 to 50) are based on traffic signs. Choose the correct options:-
e 9w 39 A 50 T forest w snenRa §1 @t e @ T @

39.

A) Weight limit B) Length limit
C) Road width 10 m D) Heavy vehicles allowed
A) ¥R e B) ®ars @

C) 10 m = T W= D) W a1 S 2
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40.

41.

42.

43.

44,

45.

46.

47.

A) Right turn prohibited B) Left turn prohibited

C) ‘U’ turn prohibited D) Over taking not allowed

A)TE TEH T afoiE @ B)arE wH WEl afoe 8

C) ‘U’ A afvia @ D) & 31 e w2

A) Side road left B) Speed limit :

C) Axle weight limit D) Road width

A)WE 3R oig 95 B B)wfe &

C) ToFad ¥R & D) @& &I 9

A) No through road B) No thorough side road

C) Side road left D) Staggered intersection

A)TEF F T AL B)&rE qol Wik U 8

C) o1F 3R & w5 D) 2e1-#eT =E

A) Road under repair B) Dangerous dip

C) Hump D) Speed braker ahead

A) TR FT TS B) @I oA A

C) e D) 3R TR 8

A) Car parking B) Taxi parking

C) Taxi stand D) Under ground parking

A) @R T B) Rl uifenar

C) ¥ ¥ D) ST T

A) T — intersection B) Bridge ahead

C) Cross road D) Major road ahead

A) T- Sikaer B) 3R & A

C) ==t D) 3 W= ug

A) Stop B) No stopping ®
C) Road closed D) No parking

A)®™ B) T W1 B

C) & o 2 D) wifete w2

A) One way B) Vehicle prohibited in both directions

C) Straight prohibited D) Go straight

A) TEHETH B) <Al Ranstt & A w2 @
C) @8 & w0 B D) €& s

A) Checking of vehicles by police department B) stay ‘
C) A vehicle with breakdown ahead D) Road under repair t j 5

A) gfci fom er Tl & i
C) I T 9T

B) &&E
D) Hd  SE ash

A) to stop vehicles coming from front

B) to stop vehicles coming from behind

C) to stop vehicles approaching simultaneously from front and behind
D) to stop vehicles coming from front and allow them to move right

A)ERH ¥ 3 ® TEA @ AT @ e

B)9E ¥ 31 @ 9l & Ve & fore

C) TR A 3N T8 4 a1 @ a9 = uw & o ey & g
D) TR ¥ 31 @ TE i A 3k IR aE ok e & R

i,

"

A) bridge ahead B) merging traffic

C) construction work D) reduced carriageway
INE R B) sm7& ¥ fier @1 g
C) Fait =1 D) 9% a5%
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51

52.

53.

54.

33

56.

37

38.

39,

World First Aid Day 2023 will be celebrated on:

A) 9" September ~ B) 11™ September C) 17™ September D) 29" September
fowa wrafie I9oR Raw 2023 wa w=mr ST
A)9 R B) 11 foar C) 17 faw=x D) 29 R

Which of the following stands for ‘FAST*?
f=iifeng § @ FAST &1 of 0 &i-w1 &

A) Fracture, Arms, Speech & Time B) Face, Abdomen, Sleep & Time

C) Face, Arms, Speech & Treatment D) Face, Arms, Speech & Tie

Hurry case means:

A) broken bones B) severe vomiting

C) any condition that threaten victim’s life D) an accident requiring rescue breathing
ISl Y 4 w1 JPWH 2

A) T sl

B) IR I

C) T ¥ Trom o = ORT & T & @ B
D) W& g o ¥ wum @ oy waw ) o w

What do you have to do when a passenger has no breathing?

A) Start CPR immediately B) Put the victim in recovery position
C) Count pulsation D) Check the eyes colour
IfE FETH 1 A A1 ST R, W AT B T S BN
A)TE CPR I &0 B) Wit =t A -wfe Rafe % @
C) 7s5 &t fimat =0 D) i@l & T #i W
What is to be done as First Aid Provider if someone gets an arm fractured?
A) Put a plaster on it B) Use antiseptic wipe
C) Put the arm in a sling D) Fetch him a glass of water
gfe ol =fed <l @iF ¢ Y, T T9W STER S 9 BRI 1 ST iR
A)TH W AR M B) WMURIees U9 T TN &
C) e & -9 | w@ D) 3a& forg o=t o fiema Jan
The best treatment for 2™ degree burn is:
A) Put aloe vera lotion on it B) Put ice on the burn
C) Keep bumn area under water D) None of the above
T T D T B TEA T B
A)SE W W HaR & el T B) el 88 W16 W {E @l
C) Welt SWIE & 9l @ SR @ D) Iudaa ¥ ¥ wIE N A @
Symptoms that indicate internal bleeding are
A) Weak pulse, excessive thrust B) Skin that feels cool, looks pale or bluish
C) Swollen or hard areas of his body such as the abdomen D) All of the above

aRer o -9 o) o et 2

A)FHIR T3], FARE T B) W W S #Egd wal 2, el e T e s o 2
C) Sush IR = ol g5 STIaT Sad oHIE o8 & 9T D) S &+t

Shock is a condition where

A) The respiratory system fails to deliver air to lungs

B) The cardiovascular system fails to deliver blood to the heart

C) The circulatory system fails to deliver blood to all parts of the body
D) All of the above

A) T -TF TS @ a1 Ao 98 e I B
B) &¢q - dlleshl 99 §9T &l & il YW §¢ HE o B
C) W - Ya1E 97 T B 9T 9 ol T TESIET S o 36T B

D) Judaa &t

After an accident, a victim is unconscious but still breathing. You should only move him, if
A) An ambulance is on the way B) bystanders advise you to

C) There is further danger D) If bleeding continues
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60.

61.

62.

63.

64.

63.

66.

67.

68.

69.

70.

Tl % W QT I8T B e B weg T A W R A0 I Haw 99 9 R Al

A)TE F WM - S o & A B) & ¥ e @l qonE §

C) e M 3R @ B D) afe v e w® @1 8

If someone faints, the first thing, you should do is

A) Sprinkle cold water on face B) Raise the feet

C) Make the victim to lie down on his tummy D) Give something to drink
afe i i S5 B W0 2, A I AW N T TmS B Ry 98 2

A)FER W BT IR & B W B)®R 33 Ia30

C) 9ifte =t ¥T & 9« o - D) &E 9 i W a

An upraised part on the hood which directs the air flow into the engine compartment is called:
T & FW IST A, S T HARAT A FG1 T S2TT IR 7, I FE B

A) Spoiler (®15eR)  B) Hotpipe (87 wE9)  C) Hood Scoop (8% ®/Y) D) Wings ()
A round rod which does not have a head, and has external threads at both ends is called:

Tiier s v =1 A 8 S iR DA R W o R o 5l F, A w2

A) Stud (&%) B) Bolt @e2) C) Nut (®) D) Screw (B)

During auto body repair, structurally and cosmetically restoring a damaged vehicle back to its
original condition is known as

A) Major repairs B) Minor repairs C) Collision D) Collision repair
2T SISt w0 = A, T AT @ S IR Wied o ariSs B W 9eel e o e ©
A) TSt W B) SI& - A w0 C) e&a D) TF i W

After painting, the removing of masking tape, reinstalling parts, and cleaning the vehicle is
called:

A) Surface inspection B) Paint selection C) Paint overspray D) Post painting operations
UieT & A, WA 30 A IJAE, T 96 I R I I I T B ad T R T
A)uas @ e B)d9e 1 99 C) 9 = 3wy D) ifew & e = v
Careful cleaning and sanding of surfaces to be painted is called:

A) Surface preparation ~ B) Surface inspection C) Corrosion protection D) Minor repairs

SAHYH IS SR YT &l T TN WEE WOWER WO @ e B

A)¥EE F dar B)@dE @ ™ C) o ¥ wen D) ARRH FEAE
The painting of automobiles is done to:

A) Prevent rust from growing on the body B) Improve its external appearance
C) Retain the characteristics of steel for long D) All of these

A i T frw TR A o R

A) T W G W A Ad & o B)sred sl A gur o & fog

C) 7 W 9% Wi &l @iEal i T9e @ B D) 4 &k

A thorough cleaning of the vehicle before repairs begin with:

A) Washup B) Sanding C) Spraying D) Helper

FEAE ¥ TEe AR Sl U0 9T el Q1% B 8

A) gerE ¥ B)WER T A C) |WEn A D) "ets e §

The temperature indicating instrument in vehicles indicates the temperature of

A) Engine piston B) Engine cylinder C) Lubricating oil D) Jacket cooling waste
qEA A A H Gehah SURCT 60 D AT I AR TR T

A)zo foees B) go faelst C) A T A D) wifhe wfeir ey
An automobile chassis does not include which one of the following parts:

A) Shock absorbers  B) Steering system C) Differential D) Brakes

Ay i WA A FT - IS S

A) Tt FeSTeR B)waRw R C) fwiam D) 3=

The electrolyte used in a lead acid battery is:

A) Hydrochloric acid B) Sulphuric acid €) Nitric acid D) Lead peroxide
o TRE S8 ¥ ygae o ©

A)EEgeeiRe e B)aewRs W C) -Efeew R D) o€ wsiterarss
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71.

12.

73.

74.

i 4

76.

77

78.

79.

80.

81.

In an automobile, solenoid switch is a part of:

A) Starting system B) Ignition system C) Charging system D) Lighting system

Wex ¥ WS Raw e & i 2
A)Erdn freew B) g e C) = e D) arfET faen

The purpose of a suspension damper is to:

A) Take the road shock B) Prolong the bounce

C) Prevent the spring deflection D) Absorb the energy in the spring
TR SR S 1 AIeH 2

A)USF & FTMF T GET BT B) 33T &l TR

C) B & fommet =t s=mn D) R &t et & g o

Which of the following is not a type of vehicle hoist?

A) Drive on lift B) 2 post hoist C) 4 post hoist D) 4.5 post hoist
Frerifera 3 @ W A IW Som At et - 98 2

Afewe FWIgFr  B)2-wW Rie C) 4-wpw R D) 45-w# e
Nuts and bolts are:

A) Temporary fasteners B) Permanent fasteners

C) More effective fastener D) All of the above

A) RS T B)USF® S C) it g Easit swee D) Sudet a+
Belt of an electric motor is broken, it needs:

A) Corrective maintenance B) Scheduled maintenance

C) Preventive maintenance D) Timely maintenance

TSIt &l Hie o1 9eT <T W B, = o B

A) = - Fares W B) fafig g C) Frare avwe D) & W 9

Which of the following is not a part of transmission system?
FARY 4R F AW w2
A) Clutch () B) Wheels (@8T%)  C) Gear Box (I wer) D) Axles (¥aaeT)

The stroke of an engine is the

A) Volume of the cylinder B) Length of the connecting rod

C) Internal diameter of the cylinder D) Distance between T.D.C. and B.D.C.
A) &St =1 s B) @l B9 &t o

C) R =1 siaRes =m D) T.D.C. 3k B.D.C. & & it g0

The natural gas is compressed in a CNG cylinder at a pressure of

CNG feist # urgfoes 0 i g e W wee fmar s 2:

A) 200 bar @R) B) 220 bar (&R) C) 250 bar (@R) D) 300 bar (@R)
What causes noisy gear box in neutral position?
A) synchronizing unit stuck B) bearing worn out or dry
C) synchronizer defective D) synchronizer wom out
=gz Raft § Ve wor Sy <@ w2
A) TTHRE gFT H T B)wafw i e & ar yew 2
C) 99w EE B D) awwme o w2
The Number of plies in a truck tyre is usually
T & TR | e e e 8 2

A)2 B)3 C)5-8 D) 12-16
What is the possible reason of gear slip?
A) wrong selection gear shift lever B) excessive end float of gear
C) wrong clutch engagement D) worn-out clutch plate
TR R R T AT EROT T R
A) IR fiwe SR 1 e 9aT B) R w1 et ¥ wlie
C) ¥4 & e A D) it §8 =9 =ic
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82.

83.

84,

85.

36.

87.

88.

89.

90.

91.

What is the primary advantage of the ABS?

A) It allows you to stop easier B) It allows you to steer while braking
C) It prevents locking D) It makes locking easier

ABS &1 & WS 1 7

A)TE ¥ T A EFT B B B) s WV 999 el o I Bl B
C) g% wifeher feew A wren s & D) @F ®ifehd I @M =T 2

Speed govemor is required for

A) Buses and Trucks B) Two wheelers C) Police vehicles D) Ambulance

i - P # fre & 9 IRa B R

A stz & fw B)ARdi s C)PRmaedi R D) M- 2 fro
Vehicle without body is called

A) Wheel (afgan) B) Axle (Taet) C) Frame (%¥) D) Chassis (@)
Which of the following system is used for control the vehicle

A) Brake and Steering system B) Suspension system C) fuel System D) Cooling System
e & FafE e @ e e e 9 aww a9

A)dw 3R waia faeew B)weda fwew C) o freew D) sfefr fees
The location of the clutch is
A) Between transmission and engine B) Between transmission and rear axle

C) Between transmission and propeller shaft D) Between transmission and differential
Forg fous B &

A) TR 3§57 & e B) giftee 3k fise voraw & e
C) a3 WeR MR & wiam D) giftnee it Rwarer & s

Clutch noises are usually most noticeable when the engine is

A) Accelerating B) Decelerating C) Idling D) Being started

T H N IE 9T 9gHA T Bl B o

A) S99 THIR U&E T Bl 7 B) 3 & WHEIR e & Wl B 2

C) S5 @ell I &1 Bl & D) 91§ 3o &l Il 3% R S 2

The purpose of gear box in motor vehicle is/are

A) To get the various speed B) to get the various torque

C) to balance the engine D) both (A) and (B)

AT FE A TR T 1 T4 2

A) =1 TR ura e B) faftr1 a@ wrar =

C) So =l Fgfera = D) 2Rt (A) 3 (B)

Four-wheel drive vehicles have differential at

A) Front wheels B) rear wheels

C) both the front and rear wheels D) any of the front and rear wheels

<ufear e @ Revae B @

A) T ufEdl W B) s ufgal w

C) = 3K s okl W D) st 3k fres ufeal & ¥ et w Rt
Where the airbags are located in the air suspension system?

A) Between frame and vehicle axle B) Between high control valve and frame
C) Between air pressure regulator and front axle D) Between brake tank and vehicle axle
Y wEE A W U wE WA B

A)HH IR AT & UHEd & e B) 3% Tgld aed 3R W & R

C) 91g 9| WEie 3R 3R Tl & SRanT D) 5@ & 3R FET & Yol & oxeEn
What are “ Air Dams’?

A) Spoilers at the rear of a vehicle B) Spoilers at the sides of a vehicle
C) Spoilers at the front of a vehicle D) Spoilers at the top of a vehicle
‘T T o E

A)TET & o wWE TR B) a6 & UIgal W WIEeR

C) TET R RN TE TE D) aEe @ R W wrger
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92.

93.

94.

95,

96.

97

98.

99,

100.

What will effect in case of over inflated tyres?

A) Tyre will wear out at center B) Tyre will wear out at edges

C) Tyre will crack at edges D) Tyre will crack at center

e B a1 Tl S B N R W SRR BN

A) TR =Fae ¥ R B)err R ¥ R

C) erR R W e s D) TR RFaR ¥ 0 s

How much pedal is required for power braking?

A) Medium Pedal B) Less Pedal C) More Pedal D) No pedal

IR AT B forg fhamr de s 2

A) RFEET dew B) & Sel C) sftrr e D) T 9l T W8 2

A car battery has 6 cell in series what should be approximately charging voltage.

FR I A D 570 F 6 I 71 39 & g AiFr e = B AR

A) 10 volts (@) B) 6 volts (dle2) C) 100 volts (Aree) D) 12 volts (3Iee)
Alternator converts mechanical energy to

A) Solar energy B) Heat energy C) Electrical energy D) Chemical energy
FIACTAC FHH Tl I & A weeran &

A)ER Fel B) @ Fwl C) fomg =utt D) TEEE Fot

Before starting your vehicle's engine
A) Check tyres, radiator water level and engine oil level.  B) Check the comfort of driver seat.

C) Check all passengers of vehicle. D) Check doors.

JA AEA T T U] FEA T TE

A) TR, IR & TR B W I T D AT B R F) ST B

B) e =t dic ol gfeer o S

C) e & W TR &t i

D) =arsi &t wi &

Which is the most commonly used wiper in all motor vehicles?

A) Electrically operated wipers B) Hydraulically operated wipers
C) Vacuum operated wipers D) Compressed air operated wipers

TR et B A 99 ¥ HUE yge B 9 aRW HE-a1

A) oz gaifera aigw B) Wil GaIfold AEW

C) et gaifoe aEw D) w¥4E 91 Fdiierd 92w

Which gas is used to extinguish fire?

A) nitrogen B) carbon monoxide C) carbon dioxide D) oxygen
I g & forg form W w1 swd e e @

A) ARSI B) &IeF ARSI C) FE SIS D) Jiteie
“Torque" is

A) Power produced by an engine B) It is an expression of rotational or twisting force of engine
C) Iéis same as horse power D) Force required to run a vehicle

¥ &

A) ST BRI I TR B)TE 99 &t ThiT IR afha qaR &1 WemEr @
C) ¥% 59 - Aok & AT 2 D) 9+ 9o & fore sufdm uee

Usually, the Speed of a vehicle is measured at
R T IR IEEdl R 9 A e &

A) front wheel (3T afzar) B) dynamo (ST&t)
C) flywheel (Firgster) D) fan belt (®+ 3ee)

ek
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ENGLISH — PUNJABI VERSION

“Hit and Run motor accident™ is defined under which section of Motor Vehicles Act, 19887

W M3 I3 HeT gawes § Hed o wifufsew, 1988 & fagst uar widls sfagfag s
Jer g

A) Section 160 9™ B) Section 161(a)(b) Ud™ C) Section 164 UGT D) Section 159 Trar

As per the second schedule of the Motor Vehicles Act, what is the amount of minimum
compensation in case of permanent disability?

ﬁamméﬁn@ﬁm,wmﬁmm%@mw
IHT ot &
A) T 25000 B) 50000 C) T 500000 D) % 100000

Traffic sign ‘Overtaking Prohibited’ is a :

A) Mandatory sign B) Cautionary sign  C) Informatory sign D) Warning sign
Sfea g »isr faamer war &7

A) rifs=t fag B) ArEUTst iy C) gus=aa &g D) fag=at fig

What does the Flashing Red Light at a traffic intersection indicate?
A) You must come to a complete stop at a flashing red light. Move through the intersection only
when it is safe
B) You should drive with caution when approaching and moving through the intersection
C) You should come to a complete stop & proceed only if Traffic Personnel on duty indicates
D) You should accelerate and quickly cross the intersection
¢feq 9979 2 OHaEt 5% 3 fan @5 Ao g9t T
A) 3TE IHIE! &% 531 3 ydt 3§ g9 T wrdter 31 g9 § §F A ue a9
e feg gafymzg 3=
B) A€ 3HT 999 € &3 ugwe I w3 fen § U9 g I, IT A=UET 5
st gt gt §
C) 3975 fusas ga AeT Trater I M3 »dl 3= OF a3 eBsT oter 3
Ae 3573 <fed qoHaTat A9 &9
D) 3U% 39 98T d 31 G99 U9 99 FT Ijer I

What do the Yellow Lines painted on the edge of the road (along the kerb) signify?
A) Do not stop or park your vehicle on this road
B) Overtaking Prohibited on this road
C) Lane Changing Prohibited on this road
D) These are “Edge Lines’ indicating the limits of road upto which the driver can safely venture
FEd ¥ fasd (faad € U'ee © 378 &%) Ue St Wisht sretst ot ean@ahnt 7s:;
A) fem s Que &7 43 w3 & I argter w59
B) few Agar I 13t & widt Swsrvgr 3
C) fenrsa I 85§ gume vgTd
D) fev fazwa €t Bretst a5 frodint Raa dbnt svret § sam @t oo
e 39 989 gefwys<a 9ISt 98T RaeT
The holder of a leamer’s licence may drive while receiving instructions of gaining experience in
driving provided:
A) He is accompanied by instructor holding an effective driving licence to drive the vehicle who
1s in a position to control/stop the vehicle
B) The vehicle shows the prescribed ‘L Plates’ to front and rear
C) Both option (A) & (B)
D) (B) in all cases both (A) and (B) for four wheelers only
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10.

11.

frfimiradt win e agw, greifear fouw Sneer owe q9s It frerfest yruz gee mir @it
IS8T HaET J, 9HIS:
A) €7 ¥ 5% 95t 959 BEl 2U BAN U9 fesnedes 92 froar aist
deB g9 A g ©f Afgst feg 9
B) 13T € »iar M3 fug 2u ‘L udz” g9t =
C) €= (A) ™3 (B)
D) (B) A'd o' f&9 "3 (A) W3 (B) d=& gudtdt arshut st
Section 39 of Motor Vehicle Act is related to :-
A) Insurance of vehicle B) Fitness of vehicle C) Registration of vehicle D) Permit of vehicle
Heg Sue wiafso &t ur 39 fan &= iz o
A)aist erdhir  B) arst ©f wonat (feedn)  C)aist S afamews D) o5t = wafie

Under what condition a vehicle can be “Towed”

A) Vehicle parked under restricted zone B) Vehicle standing in no parking area
C) Vehicle parked in a way to cause inconvenience to road users D) All of the above
fam o7&z feg arst @5t A Haet -

A) urEEl-geT 439 feg uaa ot st

B) u§Et-geT 439 fev ugt arst

C) fen 3919 &% 313t usht a9aT fraw 575 Haw & <93 a9 =iew § fidag 32

D) udaz Ara

What does the YELLOW BOX MARKING at the Road Intersection indicate to the approaching

driver of the motor vehicle?

A) The driver must approach the intersection with caution and should GIVE WAY to traffic on
the right

B) The driver should bring the vehicle to a complete halt at the STOP LINE and proceed only
when it is safe to do so

C) The driver must not stop even briefly within the marked area and should cross it only if there is
clear space available ahead of Yellow Box
D) The driver must not overtake any vehicle within the area marked as the Yellow Box

Hed 918t € »r 33 ITEi=e Bl AiSd & 9979 QU UlsT SanT Hiafder foy =5 93 a9er -

A) STEI=T 599 T8 WTRE B famT AreuTal =93 WY fed Y AR UH @8 A9y &

B) 3 34T U7 FTEIT & 91T fawgs Jast gwiet § W3 »idr 3¢ F g5 grdter § 58 wEaT
dd&T Fa g3 3

C) Wad J13 43T fe9 greley § ga=r &at gdter 3 @7 A 7 FdaT gwter I 7 Wi
gaH 3 M9 8T gt QuBsgg I

D) rEted § Uld 5an 8 Had a3 U39 feu fai a5t I »idr oot fsaser grater

“Safe Speed” for driving depends upon:

A) the traffic and weather conditions B) pick up of the vehicle
C) Average given by the vehicle D) None of the above
FENf<ar TR ‘Ao fumz geae’ fan Sy faves aaet &

A) Sfea W3 ¥imft o372 Qua B) 3Tt € 9839 @36 Sug
C) =95 omar fa'st aret wing D) Susas feg adt St 5t §

What all subjects are covered in the “Driving Preliminary Test”

A) Traffic Signs, Traffic Signals & Rules and Regulations as stated in MV Act
B) Precautions to be kept while travelling by road

C) Documents required while travel

D) All of the above
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‘FrElf<ar € yes ene’ fou faus fer wde us:

A) 2fea fog, Sfea Aaz ma MV wifafsen feg =afsg fao w3 fefseny
B) Aaa QuT 93¢ A S9ItHt TrE T Aregtait

C) FEd da¢ AW BFT aaeg

D) Suda=z Aa

12. Which of the following is mounted between the engine and gear box?
A) Propeller shaft B) Differential gear  C) Flat belt drive D) Clutch
fere w3 IrvT gan € Tafiprrs ot Ffuwr der 3
A)UlBgHee B)fsedmsdme  C) 28e §8e 3w D) a8g

13. Mention rule to be observed while overtaking a vehicle:
A) Get the acceptance from the front vehicle B) overtaking from right hand direction
C) Overtaking from left hand direction : D) Both (A) and (B)
ST & g g€ w fonrs fog I 7 =8 famy e <oes a9
A) IEt aTst 3 AetfaEt B B) A 98 e8! feur 3 =929 gaaT
C) ¥¥ g9 =&t four 3 G=ada auar D) €< (A) M3 (B)

14. Approaching a roundabout which vehicle has priority?
A) Vehicle approaching from the left B) Sides having major traffic flow
C) Vehicle approaching from the right D) None of the above

g d% udge AN faost arst § ufos fasst 7=
A) 48 yE = =&t arst B) fags vn€ <1 2feq mr@er 32
C) Av UA& w8s =5t arst D) Gudes feg It St 5t §

15. A vehicle without registration number or displaying applied for is prosecuted under:-

A) Permit violation B) RC violation

C) Violation of Supreme Court guidelines D) None of the above

Uit Afenr € faaT 77 =95 U mugTels e (8/959) farer §8w= 5

A) uafie @8uw= B) w9 H €Fw=

C) BUd dae © feur fagom o @due D) fegat feg aut &af
16. “2 second” Rule 1s used to measure:

A) asafe distance between two vehicles B) intensity of collision

C) the speed of vehicle D) time between vehicles

“2-Ags fewn” ot v wet atst At &

A) € aifsat feg mefiprz oot B) Tag & JtEasT

C)aist St e D) arshut fegarg mut
17. What precautions need to be taken in foggy conditions?

A) Slow down the vehicle speed and use fog lights B) Use indicators well before time

C) Prefer to drive within speed limits of 5 to 10km per hour D) All of the above
G feu faudm reorait Segs S 83 &
A) 3T €t g9 W 99 M3 ST BEle & =9T AT
B) =a3 fre ufos® fasar €t =93 a9
C) 53 10 Km Y3t Ure &1 a1t it few ar'st sw@< § gontv fe§
D) Sy Ae
18. On a steep road not sufficiently wide to allow the vehicle to pass each other freely without danger:
A) Vehicle going downhill gives precedence to vehicle going uphill
B) Vehicle going uphill gives precedence to vehicle going downhill

C) The Vehicle travelling faster of the two shall get precedence
D) The Vehicle that is larger of the two shall get precedence
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19.

20.

ZA.

wfue &7 ygt 9gEt TSt raw Qu, w3Y 3 wdie fea aist & wiane o a9 € RfaEt g

BT

A) BFE IB 7T 991 3181 ISl T8 9T & ufow feet §

B) 9FEl <% A7 94l A1 €BS TRl arEl & ufos feet I

D) &gt feg €t ot & ufow fest a<ait

The letters & figure in the Registration Mark (Number) displayed to the front & to the rear of the

Motor car should be as follows:

A) The letters should be in English and the figures in Arabic Numerals and the height of letter and
numerals should be 2.5 inches.

B) The letters & figures may be in any of the Indian Languages in the Eighth Schedule of the
Indian Constitution and the height of letters and numerals should be 2.5 inches.

C) The letters should be in English and the figures in Arabic Numerals and the height of letter and
numerals should be 5 inches.

D) The letters & figures may be in any of the Indian Languages in the Eighth Schedule of the
Indian Constitution and the height of letters and numerals should be 5 inches

Heg a9 € wdr M3 fusd ui yeafrs sfamems  wow (3we) fou wivet w3 W §
mfgfugn@:ma‘ Jer grdter 3
A) % Yd WEleH! f[e9 I wiF Wi wigdt wiat feg T& w3 wivat 2 v o
gaetes R g=
B) #Hg m3 W I35t Afeurs &t »ia=t vigpst fov et fan &t g few
I v3 wiygt I Wt & Guet 2.5 Bw 7=
C) »Hd WiEie few 92 T9te & w3 #i ot it fag, W3 wiyer 3 wiat
& Guel 5 féw It gt O
D) »yg M3 W 9 Afeus &t st mignet feu o faiy &t g few
d= W3 »iygt I vigt & Guel 5 fEw 5=
“Omnibus” means any motor vehicle constructed or adapted to carry more than
persons excluding the driver
Chist o’ € vIBE g€t St ieg ToT frusr ema S EF & 3 U fenergtnt €t
AETdt B getien famr 3
A)5 B) 6 )7 D)8

You wish to overtake on a dual carriageway. You see in your rear view mirror that the car behind

you has already pulled out to the right to overtake you. You should:

A) Wait for the car coming from behind to pass before you signal & pull out your car to overtake
the vehicle in front

B) Signal to car coming from behind your intention to overtake the front vehicle and pull out your
car to the right

C) Pull out your car under sharp acceleration so that you quickly overtake the front vehicle
D) Flash your brake lights before pulling out and overtaking the front vehicle
AT €U TUS-HITT QUT wiTr foaser ode Jiad wud fies oo v fev v 5 fy
30 fus wr@Et a9 & ufost ot 303 3 Gl foame =6t i U o9 fomr 31 3074 glET
o
A) MU 79 & nad T9e 3 G fsase sE 783 w3 Ui w95 T ufgst, fis
ot g uidl feas are &t ffgagad
B) I® TIE I W Il fsase 8 WuE T fug wir 99t ad & wrust waEr e
o3 feGn3rmstae SRR UR =8 8 a8
C) WUST a9 § 39 eF'Q I fa It »a® T0e T &5t &3 wiT foam A
D) 7a18 TE 3wl faarwe w3 a1 & Aea 3 gX U fewre 3 ufost
MuSht 89 BTEiet § S8 aa
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22. The driver of a motor vehicle shall, when passing workmen engaged on road repatr, drive at a
speed not exceeding

Hed T T e, AS QuT I 99 39 HEEST § IH S0 A 3 U 9R3T I &t
B
A) 30 km/hr B) 35 km/hr C) 20 km/hr D) 25 km/hr

23. Section 67 of Motor Vehicles Act, 1988 provides:
A) Possession of driving license while driving
B) Possession of Insurance certificate and PUC certificate in the vehicle
C) Revoking driving license if drunk driving is detected
D) State government’s power to control the road transport
Heg =9 mifafawn, 1988 @t umar 67 few feemgT atst ot T
A) STl J9¢ AH STEISTT BAF § 9% ST
B) 313t feg s Aadtfeae »i3 PUC wadifede 52
C) ¥ HI¥ Ul & FrEte g9 ©F uIT BareT 7, I FEfar A § I qeaT
D) ASa »TeHTe! § <8 Ja& BTt IH Haa'd =F miuarg

24. Driving by the drunken person or by a person under the influence of drugs is covered under which
Section of the Motor Vehicles Act?

"It 7 W € ygE wdts ferast =% gretfdar, Hee =oe wfafsey o fagst oo @

W3gars et I
A) Section 165 (UTaT) B) Section 175 (UTd™)
C) Section 185 (gTdv) D) Section 195 (gTam)

25. The Traffic Police uses Lux Meter to :
A) Measure the blood alcohol concentration levels of the drivers
B) Measure the light transmission of window glasses of cars
C) Record the photographic evidence of traffic violations
D) Measure the speed of Vehicle

fea ufen sam vie & =33 st &

A) FEIST o9 93 WB3I8 € IrFUS € U9 § WuE sEt
B) gra €t fumaltat € Hifimit € ya™® urganis § WU Bt
C) fea Gdweret & E2arfea Y § faaos a95 =&t

D) /st &f 9839 & Wy zE

26. Section 206 of the Motor Vehicle Act deals with the:
A) Power of police officer to impound document B) Power to arrest without warrant
C) Penalty for causing obstruction to free flow of traffic D) Restriction on conviction

Hed Ege mifafsay € arar 206 fan o5 18¥fuz 3:
A) ER3'eH 993 95 BT UfSH wigng € wftae 5%
B) ¥79¢ 3 ¥d19 fows3™9 a9s € wivgag %

C) fea € fagay Y= feu garee 995 B8t Fr 7%

D) €n-fdl Gug 59 5%
27. The vehicle in front of you indicates left you will:
A) Overtake from left B) Slow down and approach with caution
C) Overtake quickly from right D) None of the above
3I3 widl AE TET I ST UY UH =B T 9 g Jodt I, IHt
A) 48 UG »idr fsasar B) J&81 9831 W2 W=uTal 578 »idr Shar

C) A UTHE e a8 aist §nidrdedl D) Quigs feg st A st F
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28.

29,

30.

31.

32

33.

34.

A blind spot in an area;

A) Not reached by the head lights

B) An area under the car

C) An area unseen due to the bike rider’s helmet

D) An area not seen through the rear view and wing mirrors

U39 feg myzy gh

A) fan 39 I3@die 5T ude FaE

B) 9 9581 gt

C) Teiq 9785d € JBHe a795 MSfendt g

D) 7 g s femet w3 v € difpnt oot wsforet 3

What is the best way in the curve to avoid accident?

A) Slow down before entering into the curve zone B) Speed up the vehicle
C) Remain the vehicle at constant speed D) None of the above
TIWRET 3 99T B HE 3 A T =ubw Idtar T

A)HE T8 439 feu yRi 995 ' ufos J8Y T 7€ B) oSt s 3w an®

C) 18t & feamg gg39 I 9% D) Qudgs feg ast S &t &
When you cross the zebra crossing and cars stop for you what should you do first?

A) Run across the road B) Walk across slowly

C) Keep looking both ways D) None of the above

A gHT wE9T AHeT & UT S9€ I w3 a9t IOTS B uF Aeht 95, I 30§ ufost ot sesT
gdter &

A) ASY U9 g3& BT 9F B) 98t 98t ug a9

C) €= yw fous 7 9F D) Qudas feg Get S &5t T

What does the continuous white line dividing the lanes mean?

A) The driver is allowed to change lanes

B) The driver is not allowed to change lanes

C) The driver is allowed to change lanes if he/she has to take a left or right turn
D) None of the above

B5H & S5 TV BIM3T AW BEIS €T &1 HIwE I:

A) STEIST § 85H HEBS ST S T

B) ITEIST § ¥aw gus<s ©f femag st §

C)TEI B ess N YB T A N 3 4T A AT ysoT 92

D) Guda3s feg adt S ot §

According to Motor Vehicle Act which of the following Motor vehicle is not a ‘motor car:
A) Omnibus B) Tractor C) Truck D) Motor Cycle
HeT Tae rfufaser wgng, fagsr Heg o= Seg ad’ st 5

A) st g/ B) <&@ed C) 2a D) Hed ArEtas
ABS stands for  (ABS €T Y3& gu &t J)

A) Approaching Blind Spots B) Anti-lock Braking System

C) Anti Braking System D) Advanced Brake System

‘Give way’ Sign is

1) Tniangular in shape 11) Coloured with red border ii1) White background
A) Only 1) & i1) B) Only ii) C) Only ii) & iii) D) All 1), 11) & iii)
‘TraT fe@ e fag &

i) fad= mirgmg ii) B8 THE TFT i) Aew fugam =T

A) T=H (i) M3 (ii) B) 3= (ii)

C) I=H (i) M3 (iii) D) (i), (ii) 3 (iii) A9 gt
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35. Which section of the Motor Vehicle Act 1988 deals with the grant of driving licence?
Hed o wfufem 1988 & faadt urar gretfear maw &t izt 9= 575 S9fug &

A) Section (U9") 12 B) Section (U™a7) 9 C) Section (U™97) 14 D) Section (TTd7) 20
36. In which shape Informatory signs are shown?

A) Rectangle B) Circle C) Triangle D) Square

AuEIHd 95T & fam mas feg ganforr aier &

A) W3 B) feg C) fag= D) =dar

37. According to Motor Vehicle Act which definition of ‘Dealer’ is incorrect?
A) One who deals in the repair of motor vehicle
B) One who deals in the business of hypothecation
C) One who deals in selling of spare parts of motor vehicle
D) One who deals with leasing and hire purchase of vehicle

Hed TUE rfufsen wigre ‘Fiee’ €t faost ufagmr /ot st 5
A) 7 foniast Hegsus Sty erd g I
B) A feniadt fawst dy= e graug goer §
C) # fovarst Hea oe € wfsfeas yafmrt & Sue evdn ager 3
D) 7 ¥9< fagrfenm-ydte @7 U? s Agfag §
38. The Light Motor Vehicle is defined as a vehicle whose unladen weight is:

A) Not exceeding 8000 Kg. B) Not exceeding 7500 Kg.

C) Not exceeding 8500 Kg. D) None of the above

I&d Hed TU€ § mid e =q Ufsgrfag stgr aie § fan e ws-g9 wdig 979
A) 8000 Kg. I U I= B) 7500 Kg. ¥ €U aTIT

C) 8500Kg. F<UFT I D) Suda3 feg adt &t &at §

Instructions for (Q.No. 39 to 50) are based on traffic signs. Choose the correct options:-

fsaem: (39-50 37 € yws) 2feq fSgT Qua wirarfag a1 Aat feasyt @t 9= a9

39.  A) Weight limit B) Length limit
C) Road width 10 m D) Heavy vehicles allowed
A) 979 HiHT B) #get HiHT
C) 10 m I=E TE} A= D) g7dt ¥rast & migHat &
40, A) Right turn prohibited B) Left turn prohibited
C) ‘U’ turn prohibited D) Over taking not allowed
A)RA TTHSS HET T B) 4¥ T8 HIFST HET I
C) ‘U WS HET I D) a5t wid FE=T W5t T
41.  A) Side road left B) Speed limit
C) Axle weight limit D) Road width
A)YETTUA S AZT T B) 13t HIHT
C) MaAS g7 HiHT D) A= ©f g=Tet
42, A) No through road B) No thorough side road
C) Side road left D) Staggered intersection
A) A3 gt &41 B) et ¥ait Arels AEa &9
C) ¥¥ 95y ot i=za D) S8T™-HgT garar
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43.

44.

45.

46.

47.

A) Road under repair

B) Dangerous dip

C) Hump D) Speed braker ahead :
A) HaHZ WUl RS B) Y3950 B%'E
C) femr D) »idr arsteua I
A) Car parking B) Taxi parking
C) Taxi stand D) Under ground parking
A) T9 yrafaar B) SaHT yrafdar
C) Zarl Aes D) ataew ytafaar
A) T - intersection B) Bridge ahead
C) Cross road D) Major road ahead
A) T- gdIT B) »{ar y&
C) g9 D) &l HY AST
A) Stop B) No stopping
C) Road closed D) No parking
A) ATy B) gaET HgT T ®
C) iSg g€ J D) urafaar hgr I
A) One way B) Vehicle prohibited in both directions
C) Straight prohibited D) Go straight
A) feazger B) €U femret few Tos Wat @
C) fAar Aer vyt § D) AT 7§
A) Checking of vehicles by police department B) stay
C) A vehicle with breakdown ahead D) Road under repair
A) ufew fegmar =& =g=t & 79 B) oo A
C) MAT g IS I D) HdH3 wtls Faa .

A) to stop vehicles coming from front

B) to stop vehicles coming from behind

C) to stop vehicles approaching simultaneously from front and behind 2

D) to stop vehicles coming from front and allow them to move right 8 4 -y
A) FrHfSE wir 33 Tast § Jae et .
B) U »r 37 T9er § To< st n
C) worfeE 3 fU's wr 9 Twer § fed AN Ja= B¢t

A) bridge ahead B) merging traffic

C) construction work D) reduced carriageway
A)HITUB T B) wmur fem fiw four few
C) ndter dy D) 34T A=

World First Aid Day 2023 will be celebrated on:

A) 9™ September B) 11™ September C) 17 September D) 29" September
fers yest sTaedt rofesT foer 2023 a2 Watfenr g2am
A) 9 fAgwe B) 11 fA3se C) 17 fA3sw D) 29 fAd=g

Which of the following stands for ‘FAST’?

fevafafys fes ‘FAST & yas gu fagar I
A) Fracture, Arms, Speech & Time
C) Face, Arms, Speech & Treatment

B) Face, Abdomien, Sleep & Time
D) Face, Arms, Speech & Tie
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33,

54.

55.

56.

51,

58.

59,

Hurry case means:

A) broken bones B) severe vemiting
C) any condition that threaten victim’s life D) an accident requiring rescue breathing
353t g T ot H3BY T

A) it T

B) digie €5

C) dEt »wdt 83 faw v uifas © fies ugar J2
D) ##d! SawesT fan feu 5978 &t Ao 3 & o &t wgag ue

What should you do have to do when a passenger has no breathing?

A) Start CPR immediately B) Put the victim in recovery position
C) Count pulsation D) Check the eyes colour

H HASd § AT &7 mrEer 91, 37 307§ o aaaT uSam

A) 333 CPR Hg &9 B) Uifs3 & Sar-nwa=t mfest few 9%
C) &uw €t farest ag D) Myt € 331 & 779 99
What is to be done as First Aid Provider if someone gets an arm fractured?

A) Put a plaster on it B) Use antiseptic wipe

C) Put the arm in a sling D) Fetch him a glass of water

A fan fenast & gig 22 a2, 3t yest nofesT yors a6 =@ =8 ot a9 Jer i
A) few GuT usHes BarE B) darg-duq U¥ & =93 g9

C) 9 § Im-uet feg d% D) @x &€t et v fomm fomr§
The best treatment for 2™ degree burn is:

A) Put aloe vera lotion on it B) Put ice on the burn

C) keep burn area under water D) None of the above

o €9H € A%E T §93ds e &

A) fem Qug uiideTg o Us sarg B) 71 g7 €3 wge oY

C) 7%t 8t § urat It 7F D) Suias feg et S 5ot T
Symptoms that indicate internal bleeding are

A) Weak pulse, excessive thrust B) Skin that feels cool, looks pale or bluish

C) Swollen or hard areas of his body such as the abdomen D) All of the above
negat I3-TUg That &t fsaatet g

A) IHdT s99, Mo fumre

B) @v=t frost e vfogw geet 3, WISt w7t asat s1et fowrst fidat 3

C) € & et <t Helt A My waT A fy U2

D) Susa=s ra Tt

Shock is a condition where

A) The respiratory system fails to deliver air to lungs

B) The cardiovascular system fails to deliver blood to the heart

C) The circulatory system fails to deliver blood to all parts of the body
D) All of the above

FENT wiedt T8 3 d fag:

A) II-3J9 Sefan § =T gnst e ad feer §

B) fogd-=rfuar 339 fow § o5 ot wadt fo o fowr 3

C) ¥3-Y=7 939 AT € A I7aT & ¥o U Ber fe ag feer

D) Sudaz e ot

After an accident, a victim is unconscious but still breathing. You should only move him, if

A) An ambulance is on the way B) bystanders advise you to
C) There is further danger D) If bleeding continues

Page 22 of 28



60.

61.

62.

63.

64.

65.

66.

61,

68.

TquesT 3 gmie, Wes 890 S aer I WA S ferr St aes O g o ft s e

A) 33 feg WEswH 7 aot 9= B) €9HE MAJT §9& €1 A% fée I8

C) AW ST U3 T D) H Y& Bar39 =fg faar &

If someone faints, the first thing, you should do is

A) Sprinkle cold water on face B) Raise the feet

C) Make the victim to lie down on his tummy D) Give something to drink

# aet fovadt 9w T AteT 9, 3t 30 d 7 & ufost aesT e 7, 69

A) foas Qe g uat @ g wa B) U3 €% €&

C) Wifsz § Ue T uw foah D) et dw s & fe€

An upraised part on the hood which directs the air flow into the engine compartment is called:
A) Spoiler B) Hotpipe C) Hood Scoop D) Wings
ﬁ?%%m,mmmmwwmmﬁ,%é Wre I5:
A) RUTfesg B) Jeursly - C) IS AU D) feam

A round rod which does not have a head, and has external threads at both ends is called:

3% 95 frn & fie &9t & w3 S0t fafewt 3 gradt gt 05, 87 & W T

A) Stud (FE3) B) Bolt (§%2) C) Nut (5¢) D) Screw (U9)

During auto body repair, structurally and cosmetically restoring a damaged vehicle back to its
original condition is known as

A) Major repairs B) Minor repairs C) Collision D) Collision repair
WTe 5t HOHS A, 2¢ 98 =ws & g9 w3 fey &t wAg T53 feu ya-—ao=t 95 &
YT I5:

A) Tt HoWm B) 821-H2T Hovg C) 2a9 D) Zd3 Tt HoWg

After painting, the removing of masking tape, reinstalling parts, and cleaning the vehicle is
called:

A) Surface inspection B) Paint selection C) Paint overspray D) Post painting operations
Utear 3 gone, HfdeT eu & 839w, yaw Adt &F 3 e a9a W3 I9S § AE 996 § e
OH

A) 73T T fadiys B)Uz&td= () Uz e G=any D) Ufear Gusg o
Careful cleaning and sanding of surfaces to be painted is called:

A) Surface preparation  B) Surface inspection C) Corrosion protection D) Minor repairs
fensysee Femet w3 Uz distit 7re <@t ATt 3 99 HEs & wnie Is

A) F3T & fawrdt B) Ry ¥ fadtve  C) a@ I pafmr D) wyst v

The painting of automobiles is done to:

A) Prevent rust from growing on the body B) Improve its external appearance
C) Retain the characteristics of steel for long D) All of these

Heat &t uféar faw =3 &ist aict &

A) B9 QU7 #9T 91 § Joe st B) godt fey few gue 995 B¢t

C) 38 AW 39 AElS Tt WMt § warfs w9 D) feT Arg ot

A thorough cleaning of the vehicle before repairs begin with:

A) Washup B) Sanding C) Spraying D) Helper

HIHZ 3 ulust Soe €t ydt Aeet faE gy gt &

A) TS T B)JIHTHEE 3 C) FUfear 3 D) AuTfeq &€
The temperature indicating instrument in vehicles indicates the temperature of

A) Engine piston B) Engine cylinder C) Lubricating oil D) Jacket cooling waste

TISt 9 IUNTS T Aa3T Quaes fan € IuNs =% 59T a9eT
A) féme fumes B) féw= fdsq C) TS TV I® D) Afae gfdar »unm
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69.

70.

71.

T2

73.

74.

3,

76.

77.

78.

79,

An automobile chassis does not include which one of the following parts:

A) Shock absorbers  B) Steering system C) Differential D) Brakes

A) e WEHTId B) remifdar famey C) fssaus D) gat

The electrolyte used in a lead acid battery is:

A) Hydrochloric acid B) Sulphuric acid C) Nitric acid D) Lead peroxide

83 Wiz fedt feg Tafomr wier fedadete &

A) TEiSadfeg WAz B) Asfelfaa wing C) sretfea wifis D) = yardandls
In an automobile, solenoid switch is a part of:

A) Starting system B) Ignition system C) Charging system D) Lighting system
Hed feg, Adsfes niey famergard:

A) rerafear famey B) fedins famer C) sefdarfimen D) weifEar famew

The purpose of a suspension damper is to:

A) Take the road shock B) Prolong the bounce

C) Prevent the spring deflection D) Absorb the energy in the spring

ARUAE 33 o &t y&Hs T

A) A= € W3 § Afaer B) 8% & sHa@ar

C) Aflar @ fegss & go@er D) Aflar € Gaar § mir =

Which of the following is not a type of vehicle hoist?

A) Drive on lift B) 2 post hoist C) 4 post hoist D) 4.5 post hoist
35 @t fo fagsr ot § Que G5 8= <t fami ot 3

A) fsee Qug ss8s B)2-A39 fgee C)4-n3gfese D)4s5nggfeee
Nuts and bolts are:

A) Temporary fasteners B) Permanent fasteners

C) More effective fastener D) All of the above

feadtn w3 T g&:

A) Wrawt Sua B) Ud §ua C) »ifug ygr=awdt fua D) Qudas Fe It
Belt of an electric motor is broken, it needs:

A) Corrective maintenance B) Scheduled maintenance

C) Preventive maintenance D) Timely maintenance

ferst St ieg o yergeaer 3, fen § 83 &

A) en-fazaga Ags B) fsufHg A ) fs=wa 3@ D)3 fies
Which of the following is not a part of transmission system?

HE9E fAReY e 9791 fagsT a9t ¢

A) Clutch (3&9)  B) Wheels (UgT€)  C) Gear Box (3@ SaAT) D) Axles (HaH®)
The stroke of an engine is the

A) Volume of the cylinder B) Length of the connecting rod

C) Internal diameter of the cylinder D) Distance between T.D.C. and B.D.C.
ffaser H'E:_o( I

A) &sT T oifegs B) #3d &1 < sget

C) frdsg v wees femm D) T.D.C. M3 B.D.C. fegaa gdt

The natural gas is compressed in a CNG cylinder at a pressure of

CNG fézd few yiafaa s & fan wam Qua ilw &t mier

A) 200 bar (573) B) 220 bar (879) C) 250 bar (879) D) 300 bar (§79)
What causes noisy gear box in neutral position?

A) synchronizing unit stuck B) bearing worn out or dry

C) synchronizer defective D) synchronizer wom out
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80.

8L

82,

83.

84.

85.

86.

87.

88.

faS<s nfast few drve gamr nirery fag qeer &

A) AHHE Wfse gaer B) Emifdar wi famt § & ymer §
C) AHE™ME HI™E D) AMITHE W fapdT &

The Number of plies in a truck tyre is usually

I q ¥ zfeg feg v g9a faatt ugehnt et 75

A)2 B) 3 C) 5-8 D) 12-16

What is the possible reason of gear slip?

A) wrong selection gear shift lever B) excessive end float of gear

C) wrong clutch engagement D) worn-out clutch plate

dmid Afs U a95 T §9= a9s ot O

A) 3T fiage Sieg St a3 = B) 1 T midwifue WF a8

C) g% 9 =¥ I8 g fefstms D) wr 3t g% 9 ue

What is the primary advantage of the ABS?

A) It allows you to stop easier B) It allows you to steer while braking

C) It prevents locking D) It makes locking easier

ABS T 4y grfeer &t

A) fer s% ga= feg Ry <t & B) §9 BarE< AN dew few mAmat gt &
C) feu Bfgar fegga=e u@er & D) fev Bfdar & was g=@er
Speed govemor is required for

A) Buses and Trucks B) Two wheelers C) Police vehicles D) Ambulance

ISt-fouigw &t fam = w3 83 §<t &

A)SHT w3 egdT BET  B) gudhet &et C) yfew =rg=t et D) "WEZH B
Vehicle without body is called

95t 3 fast Twe § e s

A) Wheel (UatT) B) Axle (HaHS) C) Frame (@4) D) Chassis (S¥T)

Which of the following system is used for control the vehicle
A) Brake and Steering system B) Suspension system C) fuel System D) Cooling System

IS § 4B I35 WS fan famer & &z 3 &
A) 91 M3 Fenifaat famer  B) ARlES fimen  ©) fege famen D) gf&ar famew
The location of the clutch is

A) Between transmission and engine B) Between transmission and rear axle
C) Between transmission and propeller shaft D) Between transmission and differential

I8 9 Afgs g T:

A) ThHEs W3 féms fegae B) THHEE w2 fued wans fegars
C) gwfvEs w2 {Usq wee fegaw D) TS w2 fegows fegam
Clutch noises are usually most noticeable when the engine is

A) Accelerating B) Decelerating C) Idling D) Being started

A) fers Segso IR T ot I & B) A€ ffve @t sgsw I8t § ot 52
C) 7€ Basyst e foorger § D) A€ s S exGer gy atar wer §
The purpose of gear box in motor vehicle is/are

A) To get the various speed B) to get the various torque

C) to balance the engine D) both (A) and (B)

Hed €79 feF dmve gai @r HadY J:

A) fefes g9 yuz gaar B) fefd= g8 yug gaar

C) fEwe § Agfeg aaa D) €€ (A) M3 (B)
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89.

90.

91.

92

93

94.

93

96.

97.

Four-wheel drive vehicles have differential at

A) Front wheels B) rear wheels

C) both the front and rear wheels D) any of the front and rear wheels
JUIPHT oSt T f3edms Jer &

A) WIS udmit Qug B) fug® udtwt Gua

C) Mar® w3 fug® udh Gug D) »ai® w3 fued ydt fad far Qua <t
Where the airbags are located in the air suspension system?

A) Between frame and vehicle axle B) Between high control valve and frame

C) Between air pressure regulator and front axle D) Between brake tank and vehicle axle
=Y AR HE e few Swigter fag §e 0s:

A) BIH W3 TIE € WaAs TIPS 'B) 99 d¢® =@ w3 e wafims

C) TY €98 IYBIT I »AS MRS wahtns D) 89 5T w3 TUS © WaNS Sahels
What are “ Air Dams’?

A) Spoilers at the rear of a vehicle B) Spoilers at the sides of a vehicle
C) Spoilers at the front of a vehicle D) Spoilers at the top of a vehicle
g 3W oI5

A) FHE € fues yw Aufesg B) g & ufmnt 3 nufesy

C) =9< € »9® UH Aufesg D) ¥9e © fAg 3 murfess

What will effect in case of over inflated tyres?

A) Tyre will wear out at center B) Tyre will wear out at edges

C) Tyre will crack at edges D) Tyre will crack at center
mwwmémmm@wmﬁ%@n

A) Trfeg Safs 3 wiar B) zfeg fafert 3° wigm

C) oifeg feu fafent 3 392w ardait D) zfeg € wafipnrs 399 wr Areaft
How much pedal is required for power braking?

A) Medium Pedal B) Less Pedal C) More Pedal D) No pedal

U'eq gfaar @ W fdar 9w Ster I:

A) Tt iss  B)we iss C) wifug Usw D)Iss St dzaat T

A car battery has 6 cell in series what should be approximately charging voltage:
a9 &t Hedt €t 531 {29 6 A% 951 OF = Bagar gofiar 3529 &t =t ot 3
A) 10 volts (€82) B) 6 volts (%) C) 100 volts (F52) D) 12 volts (f82)

Alternator converts mechanical energy to
A) Solar energy B) Heat energy C) Electrical energy D) Chemical energy

MBEISET Ha'Ga Gear § fan few geset
A) gawt Qe B) 3y Gaar C) forset Qo D) gnrfeea Gaar
Before starting your vehicle's engine

A) Check tyres, radiator water level and engine oil level.  B) Check the comfort of driver seat.
C) Check all passengers of vehicle. D) Check doors.

»UE TUE T feve 9% 99s 3 ufust
A) Tfegt, IFRET Ut VT S s e Sz A v dt oo &5

B) grei=q €t Hie &t nfer et ga a9

C) IS € A 'S € 79 &9

D) Taerfemt &t g a9

Which is the most commonly used wiper in all motor vehicles?

A) Electrically operated wipers B) Hydraulically operated wipers
C) Vacuum operated wipers D) Compressed air operated wipers
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98.

9.

100.

WS e Traet feg R § 0 M =93 feu mfT T8 @i fausr O:

A) feast Aefess Teiug B) 7% AYT&3 TEIUT

C) fas-=g Agfez Teiug D) &UAs =9 AYT83 TET
Which gas is used to extinguish fire?

A) nitrogen B) carbon monoxide C) carbon dioxide D) oxygen

%31 59E Bt Ju=T I € 29T 1St 7iEl &
A)TTEIEAS  B) I9EE HaWEIES C) o995 sTeGaeign D) #aHAHS

“Torque" 1s

A) Power produced by an engine

B) It is an expression of rotational or twisting force of engine
C) It is same as horse power

D) Force required to run a vehicle

g% d:

A) féme =8 @3ls =g B) feg féwe €t Tadt w3 efgg U=g T y@e™ 7
C) feg Wg-Hast s I D) ¥9< g%'8F B 831et u=g

Usually, the Speed of a vehicle i1s measured at

A) front wheel B) dynamo C) flywheel D) fan belt
W Jad TIE &1 98379 fan F Wt A O

A) MITBT U B) s feai C) =S D) 2% §5e

gtk
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CHANDIGARH TRANSPORT UNDERTAKING
U.T., CHANDIGARH
Heavy Bus Driver Test (16-07-2023) (Evening)
ANSWER KEY (A-Series)

Q.No. Ans. Q.No. Ans. Q.No. Ans, Q.No. Anms,
1 B 26 A 51 A 76 B
2 B 27 B 52 D 7 D
3 A 28 D 53 C 78 A
4 A 29 A 54 A 79 B
5 A 30 C 55 C 80 D
6 C 31 C 56 C 81 B
7 C 32 C 57 D 82 B
8 D 33 B 58 C 83 A
9 C 34 D 59 C 84 D
10 A 35 B 60 B 85 A
11 D 36 A 61 C 86 A
12 D 37 C 62 A 87 C

13 D 38 B 63 D 88 D
14 C 39 B 64 D 89 C
15 B 40 D 65 A 90 A
16 A 41 C 66 D 91 C
17 D 42 B 67 A 92 A
18 A 43 B 68 D 93 B
19 A 44 B 69 C 94 D
20 B 45 D 70 B 95 C
21 A 46 B 7 A 96 A
2 D 47 A 72 D 97 A
23 D 48 C 73 D 98 C
24 C 49 C 74 A 99 B
25 B 50 D 75 A 100 A




